

City of Pembroke Pines

Procurement

Mark Gomes, Procurement Director 601 City Center Way, Pembroke Pines, FL 33025

EVALUATION TABULATION

IFB No. PD-25-01

Shearwater Nerd 2 Dive Computer/HUD

RESPONSE DEADLINE: March 25, 2025 at 2:00 pm Report Generated: Monday, April 14, 2025

SELECTED VENDOR TOTALS

Vendor	Total		
Austin's Diving Center, Inc.	\$27,990.00		
House of Scuba, Inc.	\$29,820.45		
No Shenanigans Diving	\$30,165.00		
Dive Rescue International	\$31,867.50		
JAG TECH ENTERPRISES LLC	\$40,928.55		
Safeware Inc	\$41,250.00		
Archie Supply LLC	\$43,595.55		

				Austin's Diving Center, Inc.	
Line					
Item	Description	Qty	UM	Unit Cost	Total
1	Shearwater Nerd 2 Dive Computer/HUD	15	Ea	\$1,407.00	\$21,105.00
2	Shearwater NERD Swift Transmitter	15	Ea	\$275.00	\$4,125.00
	Inodive Nerd 2 HUD Mount for Full Face Scuba				
3	Diving Masks	15	Ea	\$184.00	\$2,760.00
	Total				\$27,990.00

				House of Scuba, Inc.	
Line					
Item	Description	Qty	UM	Unit Cost	Total
1	Shearwater Nerd 2 Dive Computer/HUD	15	Ea	\$1,556.25	\$23,343.75
2	Shearwater NERD Swift Transmitter	15	Ea	\$298.80	\$4,482.00
	Inodive Nerd 2 HUD Mount for Full Face Scuba				
3	Diving Masks	15	Ea	\$132.98	\$1,994.70
	Total				\$29,820.45

				No Shenanigans Diving	
Line					
Item	Description	Qty	UM	Unit Cost	Total
1	Shearwater Nerd 2 Dive Computer/HUD	15	Ea	\$1,520.00	\$22,800.00
2	Shearwater NERD Swift Transmitter	15	Ea	\$313.00	\$4,695.00
	Inodive Nerd 2 HUD Mount for Full Face Scuba				
3	Diving Masks	15	Ea	\$178.00	\$2,670.00
	Total				\$30,165.00

				Dive Rescue International	
Line					
Item	Description	Qty	UM	Unit Cost	Total
1	Shearwater Nerd 2 Dive Computer/HUD	15	Ea	\$1,595.00	\$23,925.00
2	Shearwater NERD Swift Transmitter	15	Ea	\$390.50	\$5,857.50
	Inodive Nerd 2 HUD Mount for Full Face Scuba				
3	Diving Masks	15	Ea	\$139.00	\$2,085.00
	Total				\$31,867.50

				JAG TECH ENTERPRISES LLC		
Line						
Item	Description	Qty	UM	Unit Cost	Total	
1	Shearwater Nerd 2 Dive Computer/HUD	15	Ea	\$2,041.25	\$30,618.75	
2	Shearwater NERD Swift Transmitter	15	Ea	\$460.00	\$6,900.00	
	Inodive Nerd 2 HUD Mount for Full Face Scuba					
3	Diving Masks	15	Ea	\$227.32	\$3,409.80	
	Total				\$40,928.55	

				Safeware Inc	
Line					
Item	Description	Qty	UM	Unit Cost	Total
1	Shearwater Nerd 2 Dive Computer/HUD	15	Ea	\$1,965.00	\$29,475.00
2	Shearwater NERD Swift Transmitter	15	Ea	\$435.00	\$6,525.00
	Inodive Nerd 2 HUD Mount for Full Face Scuba				
3	Diving Masks	15	Ea	\$350.00	\$5,250.00
	Total				\$41,250.00

				Archie Supply LLC	
Line					
Item	Description	Qty	UM	Unit Cost	Total
1	Shearwater Nerd 2 Dive Computer/HUD	15	Ea	\$2,236.30	\$33,544.50
2	Shearwater NERD Swift Transmitter	15	Ea	\$450.30	\$6,754.50
	Inodive Nerd 2 HUD Mount for Full Face Scuba				
3	Diving Masks	15	Ea	\$219.77	\$3,296.55
	Total				\$43,595.55

Question	Austin's Diving Center, Inc.	House of Scuba, Inc.	No Shenanigans Diving	Dive Rescue International	JAG TECH ENTERPRISES LLC
CONFIRMATION TO BIND					
I certify that I have read, understood and agree to the terms in this solicitation, and that I am authorized to submit this response on behalf of my company.	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed
PROJECT DOCUMENTS					
PROPOSERS BACKGROUND INFORMATION FORM	Included	Included	Included	Included	Included
STANDARD DOCUMENTS					
NON-COLLUSIVE AFFIDAVIT	Included	Included	Included - Not Filled	Included	Included
SWORN STATEMENT ON PUBLIC ENTITY CRIMES FORM	Included - A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.	Included - A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.	Included - Not Filled	Included - A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.	Included - A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.
EQUAL BENEFITS CERTIFICATION FORM	Included - Currently Complies	Included - Contractor Will Complies	Included - Not Filled	Included - Currently Complies	Included - Currently Complies
VENDOR DRUG FREE WORKPLACE CERTIFICATION	Included - Meet Requirements (Resubmitted)	Included - Complies Fully	Included - Not Filled	Included - Complies Fully	Included - Complies Fully
SCRUTINIZED COMPANY CERTIFICATION	Included	Included	Included - Not Filled	Included	Included
E-VERIFY SYSTEM CERTIFICATION	Included	Included	Included - Not Filled	Included	Included
HUMAN TRAFFICKING AFFIDAVIT	Included	Included	Included - Not Filled	Included	Included
VENDOR INFORMATION FORM	Included	Included	Included - Not Filled	Included	Included
FORM W-9 (REVISED MARCH 2024)	Included	Included	Included	Included	Included
OPTIONAL DOCUMENTATION					
TRADE SECRETS	N/A	N/A	N/A	N/A	N/A
FINANCIAL STATEMENTS	N/A	N/A	N/A	N/A	N/A
ALTERNATIVES	N/A	N/A	N/A	N/A	N/A
ADDITIONAL INFORMATION	N/A	Article of Incorporation DVBE Certification	N/A	Quote	Nerd 2 Manual Swift Operating Instruction
PROFESSIONAL LICENSES	N/A	N/A	N/A	N/A	N/A
VENDOR CLASSIFICATION					
Is your firm a Local Pembroke Pines Vendor (LPPV) and Local Broward County Vendor (LBCV)?	No	No	Yes	No	No

Question	Austin's Diving Center, Inc.	House of Scuba, Inc.	No Shenanigans Diving	Dive Rescue International	JAG TECH ENTERPRISES LLC
Please indicate your Local Vendor Status	N/A	N/A	Local Broward County Vendor (LBCV)	N/A	N//A
Local Vendor Preference Certification	N/A	N/A	Meet Requirement (Not Signed)	N/A	N//A
Local Business Tax Receipts	N/A	N/A	Coral Spring - 09-30-25	N/A	N//A
Is your firm a Veteran Owned Small Business (VOSB)?	No	No	No	No	No
Determination Letter from the United States Department of Veteran Affairs Center	N/A	N/A	N/A	N/A	N/A
Is your firm a Minority-Owned Business Enterprise (MBE)?	No	No	No	No	Yes
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)	N/A	N/A	N/A	N/A	Hispanic-American MBE
MBE Certification Documentation	N/A	N/A	N/A	N/A	MBE Certificate
Is your firm a Woman-Owned Business Enterprise (WBE)?	No	No	No	No	No
WMBE Certification Documentation	N/A	N/A	N/A	N/A	N/A
Is your firm a HubZone Business / Labor Surplus Area Firm?	No	No	No	No	No
HubZone Business / Labor Surplus Area Firm Certification Documentation	N/A	N/A	N/A	N/A	N/A
Is your firm a Broward County Small Business Enterprise (SBE)?	No	No	No	No	No
SBE Cerification Documentation	N/A	N/A	N/A	N/A	N/A
Is your firm a Broward County Business Enterprise (CBE)?	No	No	No	No	No
CBE Certification Documentation	N/A	N/A	N/A	N/A	N/A
Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?	No	No	No	No	No
DBE Certification Documentation	N/A	N/A	N/A	N/A	N/A
Does your firm have a Vendor Classification that was not listed above?	No	No	No	No	No
Other Vendor Classification Certification Documentation	N/A	N/A	N/A	N/A	N/A

Question	Safeware Inc	Archie Supply LLC	
CONFIRMATION TO BIND			
I certify that I have read, understood and agree to the terms in this solicitation, and that I am authorized to submit this response on behalf of my company.	Confirmed	Confirmed	
PROJECT DOCUMENTS			
PROPOSERS BACKGROUND INFORMATION FORM	Included	Included	
STANDARD DOCUMENTS			
NON-COLLUSIVE AFFIDAVIT	Included	Included	
SWORN STATEMENT ON PUBLIC ENTITY CRIMES FORM	Included - A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.	Included - A. Neither the entity nor any officers who are acitve in management nor any affiliate have been charged with a public entity crime.	
EQUAL BENEFITS CERTIFICATION FORM	Included - Currently Complies	Included - Currently Complies	
VENDOR DRUG FREE WORKPLACE CERTIFICATION	Included - Complies Fully	Included - Complies Fully	
SCRUTINIZED COMPANY CERTIFICATION	Included	Included	
E-VERIFY SYSTEM CERTIFICATION	Included	Included - Not a City Form	
HUMAN TRAFFICKING AFFIDAVIT	Included	Included	
VENDOR INFORMATION FORM	Included	Included	
FORM W-9 (REVISED MARCH 2024)	Included	Included	
OPTIONAL DOCUMENTATION			
TRADE SECRETS	N/A	N/A	
FINANCIAL STATEMENTS	N/A	N/A	
ALTERNATIVES	N/A	N/A	
ADDITIONAL INFORMATION	N/A	N/A	
PROFESSIONAL LICENSES	N/A	N/A	
VENDOR CLASSIFICATION			
Is your firm a Local Pembroke Pines Vendor (LPPV) and Local Broward County Vendor (LBCV)?	No	No	

Question	Safeware Inc	Archie Supply LLC
Please indicate your Local Vendor Status	N//A	N//A
Local Vendor Preference Certification	N//A	N//A
Local Business Tax Receipts	N//A	N//A
Is your firm a Veteran Owned Small Business (VOSB)?	No	Yes
Determination Letter from the United States Department of Veteran Affairs Center	N//A	VOSB Certification
Is your firm a Minority-Owned Business Enterprise (MBE)?	No	No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)	N//A	N//A
MBE Certification Documentation	N//A	N//A
Is your firm a Woman-Owned Business Enterprise (WBE)?	No	No
WMBE Certification Documentation	N/A	N//A
Is your firm a HubZone Business / Labor Surplus Area Firm?	No	No
HubZone Business / Labor Surplus Area Firm Certification Documentation	N/A	N//A
Is your firm a Broward County Small Business Enterprise (SBE)?	No	No
SBE Cerification Documentation	N/A	N//A
Is your firm a Broward County Business Enterprise (CBE)?	No	No
CBE Certification Documentation	N/A	N//A
Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?	No	No
DBE Certification Documentation	N/A	N//A
Does your firm have a Vendor Classification that was not listed above?	No	No
Other Vendor Classification Certification Documentation	N/A	N//A